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[57] ABSTRACT

A method for compensating a clock’s operating error,
the method comprising the steps of: producing a clock
frequency (f2) from a frequency (f1) of a high-frequency
oscillator by dividing it with a constant (K) and; at
predetermined times synchronizing the clock to an ex-
ternal reference frequency, characterized in that during
the course of clock synchronization, there is measured a
clock operating deviation, which is created during a
period defined to be a synchronizing interval, by com-
paring the phase of the clock to that of the reference
frequency and, during the synchronizing interval, ie.,
the interval between synchronization steps, the oscilla-
tor frequency (f1) is adjusted by means of a controlled
variable, such as voltage, based on the measurement of
an oscillator operating error, in a manner that the effect
of the oscillator operating error on the clock frequency
is minimized.

2 Claims, 1 Drawing Sheet
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COMPENSATION OF A CLOCK OPERATING
ERROR

BACKGROUND OF THE INVENTION

The present invention relates to a method for com-
pensating an operating error of a clock, particularly that
of transmission clocks used in the base stations of a
long-range paging system.

A problem in long-range paging systems with a dense
network of base stations is that a paging receiver may be
located within the audible range of two transmitters.
Since transmitters operate on the same frequency, they
interfere with each other unless synchronized.

Synchronization means that the transmission clocks
of base stations send out the same information at exactly
the same instant, so-called quasi synchronous transmis-
sion. In long-range paging systems with digital informa-
tion, this means that the same information symbol is
transmitted from various base stations at exactly the
same time. Transmission is quasi synchronous if the
phase difference of symbols transmitted by various base
stations, upon the arrival thereof in a paging receiver,
does not exceed 3 of the time required by transmission
of the symbol.

As transmission speed increases, the requirement for
synchronization will be stricter since the duration of a
symbol becomes shorter.

Especially in the novel long-range paging system
according to ERMES standard there is a set require-
ment that no more than =5 microseconds difference
can be accepted in various base stations at the com-
mencement of symbol modulation.

In order to attain a synchronization accuracy of five
microseconds, a base station must necessarily be pro-
vided with a high-precision time reference (atomic
clock), which is synchronized to a certain time refer-
ence, or with continous reception of time from a high-
precision time reference. A drawback with both of
these is a high price. High-precision time references are
expensive and, on the other hand, the attainment of a
necessary degree of precision would require the use of
a satellite receiver and those are also expensive.

A preferred solution, durrently used for synchroniza-
tion, is to provide a base station with a quartz oscillator
as time reference and to synchronize the clocks of vari-
ous base stations periodically to each other by using a
radio path for the transmission of a synchronization
signal. A problem here is, however, that during the
course of synchronization the transmission of pagings is
prevented. Synchronization takes about a minute. The
synchronizing accuracy of +5 microseconds would
require synchronization at least at five-minute intervals
due to the insufficient accuracy of a quartz oscillator.
However, such a frequent synchronization takes up too
much radio capacity to be practical.

BRIEF DESCRIPTION OF THE DRAWING

The drawing shows a flow chart illustrating the
method of the invention.

SUMMARY OF THE INVENTION

An object of the invention is to solve this problem by
compensating a clock operating error in a manner that
the synchronizing interval can be substantially length-
ened.
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This object is achieved on the basis of the characteriz-
ing features set forth in the annexed claims.

A solution of the invention will now be described in
more detail.

DESCRIPTION OF THE PREFERRED
EMBODIMENT

A clock frequency f2 of a base station is obtained
from a frequency f1 of a high-frequency quartz oscilla-
tor by dividing it by a constant K.

Thus, the frequency deviation of a quartz oscillator
causes in the transmission clock a phase shift, which
increases continuously over a synchronizing interval
and drops back to zero after synchronization. Since the
maximum acceptable phase shift is constant, the accu-
racy of a quartz oscillator defines a necessary synchro-
nizing interval.

The frequency deviation of a quartz oscillator is a
result of the following factors: environmental condi-
tions, particularly temperature, aging, a setting error
and short-term instability.

The most significant of these factors are environmen-
tal conditions, aging and setting error. The short-term
instability is several times better compared to those. All
three significant error factors remain constant (setting
error) or change slowly (environmental factors and
aging). This renders possible the compensation of these
factors and a categorical improvement of the character-
istics of a quartz oscillator.

The compensation is effected in 2 manner that, during
synchronization, the oscillator operating error is mea-
sured and, during a synchronizing interval, the oscilla-
tor is adjusted so as to minimize the effect of an operat-
ing error on the transmission clock.

The compensation can be performed in two ways.
One way is to adjust the frequency of an oscillator by
some controlled variable, for example voltage. The
other way is to shift the phase of a base station clock
gradually over a synchronizing interval.

Adjustment of the frequency of an oscillator with a
controlled variable produces a retroactive control cir-
cuit, wherein the controlled variable is the frequency of
an oscillator. The real frequency of an oscillator is mea-
sured during synchronization and the controlled vari-
able is used to correct the frequency of an oscillator.
The control circuit is slow since synchronization is
effected at intervals of about 30 minutes to measure the
present frequency rate. The best control algorithm for
adjusting the frequency would be purely integrating
control.

Another method is a phase shift of the base station
clock over a synchronizing interval. This can be ef-
fected by way of a program.

The unit of a clock phase shift is 1/f1. The phase shift
is effected in including in the divider of formula f1/K
for the duration of one cycle of a clock either one too
high or too low a dividing constant K =1, depending on
the direction of a required correction.

The correction can be effected as follows:

1. Measuring a clock operating deviation, which is cre-
ated during a period equal to the synchronizing inter-
val.

2. Calculating the real deviation by adding to the mea-
sured deviation a clock phase shift effected during the
synchronizing interval.
tl=measured deviation
t2=correction made during synchronizing interval
t3=real deviation
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tl is understood to have a positive sign if the base
station clock had been fast relative to reference
time and a negative sign if it had been slow. Cor-
rection f2 is positive if the base station clock has
been made slower and negative if the clock has
been made faster over a synchronizing interval.

t3=tl-+t2
3. Calculating a deviation per unit time t4.
Ts=synchronizing interval
t4=t3/Ts
4. Calculating a necessary correction period Tk.

Tk=1/} (2241) 1

5. Correcting the transmission clock phase at Tk inter-
vals by varying a dividing constant K of the divider
for the duration of a single period by one to be either
lower or higher. If t4 were negative, the constant is
subtracted by one, and if positive, the constant is
increased by one.

Thus, the variation *1 of dividing constant K pro-
duces a correction in the phase of a clock equal to phase
shift unit 1/fl, and .correction period Tk determines
how often this correction is made during a synchroniz-
ing interval. By way of an example it can be appreciated
that the oscillator can have a frequency of 4 MHz and
constant K can be in the order of 1000.
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I claim:

1. A method for compensating a clock’s operating
error, said method comprising the steps of: producing a
clock frequency (f2) from a frequency (f1) of a high-fre-
quency oscillator by dividing it with a constant (K) and;
at predetermined times synchronizing said clock to an
external reference frequency by altering the dividing
constant (K), characterized in that during the course of
clock synchronization, there is measured a clock oper-
ating deviation, which is created during a period de-
fined to be a synchronizing interval, by comparing the
phase of the clock to that of said reference frequency
and on the basis of the phase comparison the clock
phase is shifted by varying said dividing constant (K) by
one lower or higher (1) for the duration of a single cycle
of a transmission clock (K/f1) at certain correction
intervals (Tk), said correction interval (Tk) being calcu-
lated on the basis of the measured clock operating devi-
ation created during the synchronizing interval.

2. The application of a method as set forth in claim 1,
characterized in that the method is applied to effect the
compensation of transmission clocks in the base stations
of a radio transmitter network, the transmission clocks
of base stations being synchronized at certain intervals
either to each other or to 2 common time reference and
said compensation of an operating error is effected dur-
ing a synchronizing interval.
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